

ON MULTIVALENT HARMONIC MEROMORPHIC FUNCTIONS INVOLVING HYPERGEOMETRIC FUNCTIONS

Dr. ABDULRAHMAN SALMAN JUMA*

Abstract

In this paper we introduce a subclass of multivalent harmonic meromorphic functions defined in the exterior of the unit disk by using generalize hypergeometric functions. We derived sufficient coefficient conditions and shown to be also necessary for this subclass by putting certain restrictions on the coefficients, distortion theorem, extreme points and other interesting results are also investigated.

KeyWords: Multivalent functions, Meromorphic functions, Harmonic functions, Distortion theorem, Starlike functions, Hypergeometric functions.

AMS Subject Classification: Secondary30C45.

1. Introduction

A continuous function $f = u + iv$ is a complex – valued harmonic function in a domain $D \subset C$ if both u and v are real harmonic in D . We can write in any simply connected domain D , $f = h + \overline{g}$, where h and g are analytic in D .

Hengartner and Schober[3], considered harmonic sense preserving univalent mappings defined on $\overline{U} = \{z : |z| > 1\}$ that map ∞ to ∞ and represented by

$$f(z) = h(z) + \overline{g(z)} + A \log |z| \text{ where } h(z) = \alpha z + \sum_{n=0}^{\infty} a_n z^{-n}, g(z) = \beta z + \sum_{n=1}^{\infty} b_n z^{-n} \text{ are}$$

analytic in \overline{U} and $|\alpha| > |\beta| \geq 0, A \in C$, further, let us denoted the family $\sum_p(H)$ consisting of all harmonic sense-preserving multivalent meromorphic mapping

$$f(z) = h(z) + \overline{g(z)} \quad (1)$$

Where

$$h(z) = z^p + \sum_{n=1}^{\infty} a_{n+p-1} z^{-(n+p-1)}, g(z) = \sum_{n=1}^{\infty} b_{n+p-1} z^{-(n+p-1)}, |b_p| < 1, |z| > 1 \quad (2)$$

-
- Assist. Prof.\ Alanbar University\ E mail: dr_juma@hotmail.com

For $0 \leq \alpha < 2(1-k), 0 \leq \lambda \leq 1, \frac{1}{2} \leq k < 1, 0 \leq \theta < 1, 0 \leq \xi < 1$ and $z = re^{i\beta}; 1 < r < \infty; \beta, \xi, \theta$ and α are real .

Furthermore, for real or complex numbers $\alpha_1, \alpha_2, \dots, \alpha_q$ and $\beta_1, \beta_2, \dots, \beta_s (\beta_j \neq 0, -1, -2, -3, \dots; j = 1, 2, \dots, s)$, we define the generalized hypergeometric function ${}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$ by

$${}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n \dots (\alpha_q)_n z^n}{(\beta_1)_n \dots (\beta_s)_n n!} \quad (3)$$

$$(q \leq s + 1; q, s \in N_0 = N \cup \{0\}; z \in \mathcal{U}),$$

Where $(x)_k$ is the pochhammer symbol, defined in term of Gamma function Γ , by

$$(x)_k = \frac{\Gamma(x+k)}{\Gamma(x)}.$$

Corresponding to a function $H_{p,\mu}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = z^p {}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$, we consider a linear operator $H_{p,\mu}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$ defined by the convolution

$$H_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s) * H_{p,\mu}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = \frac{z^p}{(1-z)^{\mu+p}} \cdot (\mu > -p)$$

Let $H_{p,q,s}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s): \sum_p(H) \rightarrow \sum_p(H)$ defined by

$$H_{p,q,s}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s) f(z) = H_{p,\mu}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * f(z) \quad (4)$$

$$(\alpha_i, \beta_j \neq 0, -1, -2, -3, \dots; i = 1, 2, \dots, q, j = 1, \dots, s, \mu > -p; f \in \sum_p(H); z \in \bar{U})$$

For notational simplicity, we use shorter notation

$$H_{p,q,s}^\mu(\alpha_1) = H_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s)$$

Thus, from(4) we deduce that after simple calculations, we obtain

$$z(H_{p,q,s}^\mu(\alpha_1) f(z)) = z^p + \sum_{n=1}^{\infty} \frac{(\mu+p)_{n+p} (\beta_1)_{n+p} \dots (\beta_s)_{n+p}}{(\alpha_1)_{n+p} \dots (\alpha_q)_{n+p}} a_{n+p-1} z^{-n+p-1}. \quad (5)$$

We note that the linear operator $H_{p,q,s}^\mu$ is closely related to the Choi-Saigo-Srivastava Operator [2]. In view of relationship (5) for harmonic function $f = h + \bar{g}$ given by (1), we define the operator

$$H_{p,q,s}^\mu f(z) = H_{p,q,s}^\mu h(z) + \overline{H_{p,q,s}^\mu g(z)}.$$

We introduce the subclass $GO_H(\beta, \lambda, k, p)$ consisting of all functions f satisfying

$$\operatorname{Re}\left\{(1 + e^{i\theta}) \frac{z(H_{p,q,s}^\mu f(z))' / H_{p,q,s}^\mu f(z)}{\lambda z(H_{p,q,s}^\mu f(z))' / H_{p,q,s}^\mu f(z) + (1 - p\lambda)} - pk(1 + e^{i\xi})\right\} \geq p\alpha \quad (6)$$

The special case of this class was studied by A.R.S Juma et al.[5]. Also the subclass of Multivalent meromorphic harmonic functions with

$$f = z^p + \sum_{n=1}^{\infty} |a_{n+p-1}| z^{-(n+p-1)} - \sum_{n=1}^{\infty} |b_{n+p-1}| z^{-(n+p-1)}, |b_p| < 1 \quad (7)$$

that satisfies(6) is denoted by $\overline{GO}_H(\beta, \lambda, k, p)$ The particular case $\lambda = 0, p = 1$ recently is investigated by [4] for univalent harmonic functions defined in $U = \{z : |z| < 1\}$.

We also note that the class of harmonic multivalent meromorphic functions have been studied by O.P.Ahuja and J.M. Jahangiri [1].

In order to study the various properties of $\overline{GO}_H(\beta, \lambda, k, p)$ we need the following result Due to O.P. Ahuja and J.M. Jahangiri[1].

Theorem 1: Let $f = h + \bar{g}$ with h and g are given by (2). If

$$\sum_{n=1}^{\infty} (n + p - 1)(|a_{n+p-1}| + |b_{n+p-1}|) \leq p.$$

Then f is harmonic, sense preserving and multivalent in \bar{U} and $f \in \sum_p(H)$.

Theorem 2: Let $f = h + \bar{g}$ with h and g are given by (2). Furthermore, let

$$\sum_{n=1}^{\infty} \{[2(n + p - 1) - p(\alpha + 2k)(\lambda n + 2p\lambda - \lambda - 1)]|a_{n+p-1}| + [2(n + p - 1) - p(\alpha + 2k) \times (\lambda n - \lambda + 1)]|b_{n+p-1}|\} T_p^\mu(n) \leq p(2 - 2k - \alpha) \quad (9)$$

Where $0 \leq \alpha < 2(1 - k), 0 \leq \lambda \leq 1, \frac{1}{2} \leq k < 1$ and $T_p^\mu(n) = \frac{(\mu + p)_{p+n}(\beta_1)_{n+p} \dots (\beta_s)_{n+p}}{(\alpha_1)_{n+p} \dots (\alpha_q)_{n+p}}$. Then f

is sense preserving multivalent meromorphic harmonic functions with $f \in \overline{GO}_H(\beta, \lambda, k, p)$

Proof : If the inequality (9) holds for coefficients of $f = h + \bar{g}$, then by (8), f is sense preserving and harmonic multivalent in \bar{U} . Now we want to show that $f \in \overline{GO}_H(\beta, \lambda, k, p)$. According to (6) we have

$$\operatorname{Re}\left\{\frac{[z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))'}](1 + e^{i\theta})}{\lambda z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))'} + (1 - p\lambda)(H_{p,q,s}^\mu h(z) - \overline{H_{p,q,s}^\mu g(z)})} - pk(1 + e^{i\xi})\right\} \geq p\alpha,$$

where $z = re^{i\gamma}, 0 \leq \gamma \leq 2\pi, 0 \leq r < 1, 0 \leq \alpha < 2(1 - k), 0 \leq \lambda \leq 1, \frac{1}{2} \leq k < 1, 0 \leq \theta < 1, 0 \leq \xi < 1$.

$$\text{Let } N(\lambda, z) = \frac{z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))'}(1 + e^{i\theta}) - pk(1 + e^{i\xi})}{\lambda z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))'} + (1 - p\lambda)(H_{p,q,s}^\mu h(z) - \overline{H_{p,q,s}^\mu g(z)})}$$

and

$$M(\lambda, z) = \lambda z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))'} + (1 - p\lambda)(H_{p,q,s}^\mu h(z) - \overline{H_{p,q,s}^\mu g(z)}).$$

By using the fact $\operatorname{Re} w > p\alpha$ if and only if $|p(1 - \alpha) + w| > |p(1 + \alpha) - w|$, it is enough to show that

$$|p(1 - \alpha)M(\lambda, z) + N(\lambda, z)| - |N(\lambda, z) - p(1 + \alpha)M(\lambda, z)| \geq 0.$$

Therefore

$$\begin{aligned} & |N(\lambda, z) + p(1 - \alpha)M(\lambda, z)| = |(1 + e^{i\theta})(z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))'}) - pk(1 + e^{i\xi}) \times \\ & [\lambda(z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))'}) + (1 - p\lambda)(H_{p,q,s}^\mu h(z) + \overline{H_{p,q,s}^\mu g(z)})] + p(1 - \alpha)[\lambda(z(H_{p,q,s}^\mu h(z))' - \\ & + (1 - p\lambda)(H_{p,q,s}^\mu h(z) + \overline{H_{p,q,s}^\mu g(z)})]| \\ & = |[(1 + e^{i\theta}) - p\lambda k(1 + e^{i\xi}) + p\lambda(1 - \alpha)] z(H_{p,q,s}^\mu h(z))' \\ & - [(1 - p\lambda)pk(1 + e^{i\xi}) - p(1 - \alpha)(1 - p\lambda)] H_{p,q,s}^\mu h(z) - \overline{[(1 + e^{i\theta}) - \lambda pk(1 + e^{i\xi}) + p(1 - \alpha)\lambda] z(H_{p,q,s}^\mu \\ & - \overline{[pk((1 + e^{i\xi})(1 - p\lambda) - p(1 - \alpha)(1 - p\lambda))] H_{p,q,s}^\mu g(z)}]| \\ & = |[(1 + e^{i\theta}) - p\lambda k(1 + e^{i\xi}) + p\lambda(1 - \alpha)] [pz^p - \sum_{n=1}^{\infty} (n + p - 1)a_{n+p-1}T_p^\mu(n)z^{-(n+p-1)}] \\ & - [(1 - p\lambda)pk(1 + e^{i\xi}) - p(1 - \alpha)(1 - p\lambda)] [z^p + \sum_{n=1}^{\infty} a_{n+p-1}T_p^\mu(n)z^{-(n+p-1)}] \\ & - \overline{[(1 + e^{i\theta}) - p\lambda k(1 + e^{i\xi}) + p(1 - \alpha)\lambda] [- \sum_{n=1}^{\infty} (n + p - 1)b_{n+p-1}T_p^\mu(n)z^{-(n+p-1)}]} \\ & - \overline{[pk(1 + e^{i\xi})(1 - p\lambda) - p(1 - \alpha)(1 - p\lambda)] \sum_{n=1}^{\infty} b_{n+p-1}T_p^\mu(n)z^{-(n+p-1)}} \\ & \geq (3p - 2kp - p\alpha)|z|^p - \sum_{n=1}^{\infty} [2(n + p - 1) + p(1 - \alpha - 2k)(\lambda n + 2p\lambda - \lambda - 1)] \times \\ & |a_{n+p-1}|T_p^\mu(n)|z|^{-(n+p-1)} - \sum_{n=1}^{\infty} [2(n + p - 1) + p(1 - \alpha - 2k)(\lambda n - \lambda + 1)]|b_{n+p-1}|T_p^\mu(n)|z|^{-(n+p-1)} \end{aligned}$$

Also we have

$$\begin{aligned}
 |N(\lambda, z) - p(1 + \alpha)M(\lambda, z)| &= |(1 + e^{i\theta})(z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))}') - pk(1 + e^{i\xi}) \times \\
 &[\lambda(z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))}') + (1 - p\lambda)(H_{p,q,s}^\mu h(z) + \overline{H_{p,q,s}^\mu g(z)})] \\
 &- p(1 + \alpha)[\lambda(z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))}') + (1 - p\lambda)(H_{p,q,s}^\mu h(z) + \overline{H_{p,q,s}^\mu g(z)})]| \\
 &= |[(1 + e^{i\theta}) - pk\lambda(1 + e^{i\xi}) - p\lambda(1 + \alpha)] z(H_{p,q,s}^\mu h(z))' - [(1 - p\lambda)pk(1 + e^{i\xi}) \\
 &+ p(1 + \alpha)(1 - p\lambda)] H_{p,q,s}^\mu h(z) - [(1 + e^{i\theta}) - \lambda pk(1 + e^{i\xi}) - p(1 + \alpha)\lambda] z(\overline{H_{p,q,s}^\mu g(z)})' \\
 &- \overline{[pk(1 + e^{i\xi})(1 - p\lambda) + p(1 + \alpha)(1 - p\lambda)] H_{p,q,s}^\mu g(z)}| \\
 &\geq (p\alpha + 2pk - p)|z|^p + \sum_{n=1}^{\infty} [2(n + p - 1) - p(1 + \alpha + 2k)(\lambda n + 2\lambda p - \lambda - 1)] \times \\
 &|a_{n-p-1}|T_p^\mu(n)|z|^{-(n+p-1)} + \sum_{n=1}^{\infty} [2(n + p - 1) - p(2k + 1 + \alpha)(\lambda n - \lambda + 1)]|b_{n+p-1}|T_p^\mu(n)|z|^{-(n+p-1)}.
 \end{aligned}$$

Thus,

$$\begin{aligned}
 &|p(1 - \alpha)M(\lambda, z) + N(\lambda, z)| - |N(\lambda, z) - p(1 + \alpha)M(\lambda, z)| \\
 &\geq 2p(2 - 2k - \alpha)|z|^p - 2 \sum_{n=1}^{\infty} [2(n + p - 1) - p(\alpha + 2k)(\lambda n + 2\lambda p - \lambda - 1)]|a_{n+p-1}|T_p^\mu(n)|z|^{-(n+p-1)} - \\
 &- 2 \sum_{n=1}^{\infty} [2(n + p - 1) - p(\alpha + 2k)(\lambda n - \lambda + 1)]|b_{n+p-1}|T_p^\mu(n)|z|^{-(n+p-1)} \geq 0 \text{ (by (9)).}
 \end{aligned}$$

So, $f \in GO_H(\beta, \lambda, k, p)$.

Theorem 3: Let $f = h + \overline{g}$ with h and g are given by (2). Then $f \in \overline{GO}_H(\beta, \lambda, k, p)$ if and only if

$$\begin{aligned}
 &\sum_{n=1}^{\infty} \{ [2(n + p - 1) - p(\alpha + 2k)(\lambda n + 2\lambda p - \lambda - 1)]a_{n+p-1} + [2(n + p - 1) - p(\alpha + 2k) \\
 &\times (\lambda n - \lambda + 1)]b_{n+p-1} \} T_p^\mu(n) / p(2 - 2k - \alpha) \leq 1
 \end{aligned} \tag{10}$$

Proof: The "if" part is clear, since $\overline{GO}_H(\beta, \lambda, k, p) \subset GO_H(\beta, \lambda, k, p)$, for "only if" part we show that $f \notin \overline{GO}_H(\beta, \lambda, k, p)$ if the inequality (10) does not hold. So, we must show that

$$\begin{aligned}
 &\text{Re} \left\{ \left(\frac{z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))}'}{\lambda z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))}' + (1 - p\lambda)(H_{p,q,s}^\mu h(z) - \overline{H_{p,q,s}^\mu g(z)})} \right) (1 + pk(1 + e^{i\xi}) - p\alpha) \right\} \\
 &= \text{Re} \left\{ \frac{C(z)}{D(z)} \right\} \geq 0, \text{ where}
 \end{aligned}$$

$$\begin{aligned}
 C(z) &= z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))}' (1 + e^{i\theta}) - pk(1 + e^{i\xi}) + \alpha \times \\
 &[\lambda z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))}' + (1 - p\lambda)(H_{p,q,s}^\mu h(z) - \overline{H_{p,q,s}^\mu g(z)})],
 \end{aligned}$$

also

$$D(z) = \lambda(z(H_{p,q,s}^\mu h(z))' - \overline{z(H_{p,q,s}^\mu g(z))}') + (1 - p\lambda)(H_{p,q,s}^\mu h(z) - \overline{H_{p,q,s}^\mu g(z)}),$$

then

$$C(z) = p(2 - 2k - \alpha) |z|^p - \sum_{n=1}^{\infty} \{ [2(n+p-1) - p(\alpha + 2k)(\lambda n + 2p\lambda - \lambda - 1)] a_{n+p-1} |T_p^\mu(n) \times |z|^{-(n+p-1)} + [2(n+p-1) - p(\alpha + 2k)(\lambda n - \lambda + 1)] b_{n+p-1} \} T_p^\mu(n) |z|^{-(n+p-1)}$$

and

Upon choosing the values of z on the positive real axis, where $z = r < 1$, then we must show that

$$\begin{aligned} & \{ (2 - 2k - \alpha) - \sum_{n=1}^{\infty} \{ [2(n+p-1) - p(\alpha + 2k)(\lambda n + 2p\lambda - \lambda - 1)] |a_{n+p-1}| + \\ & + [2(n+p-1) - p(\alpha + 2k)(\lambda n - \lambda + 1)] |b_{n+p-1}| \} T_p^\mu(n) / \{ 1 - \sum_{n=1}^{\infty} (\lambda n + 2p\lambda - \lambda - 1) |a_{n+p-1}| T_p^\mu(n) r^{-(n+2p-1)} \\ & + \sum_{n=1}^{\infty} (\lambda n - \lambda + 1) |b_{n+p-1}| T_p^\mu(n) |r|^{-(n+2p-1)} \} \geq 0. \end{aligned} \tag{11}$$

We note that the last inequality is negative for r sufficiently to 1, then the inequality (10) does not hold, therefore $\operatorname{Re} \left\{ \frac{C(z)}{D(z)} \right\}$ is negative. This contradicts the required condition

for $f \in \overline{GO}_H(\beta, \lambda, k, p)$.

Next we obtain the distortion bounds and extreme points.

Theorem 4: (Distortion Bounds) : Let $f \in \overline{GO}_H(\beta, \lambda, k, p)$. Then

$$|f(z)| \leq r^p + p(2 - 2k - \alpha)r^{-p} \text{ and } |f(z)| \geq r^p - p(2 - 2k - \alpha)r^{-p}$$

Proof: Let $f \in \overline{GO}_H(\beta, \lambda, k, p)$. Then for $|z| = r > 1$, we have

$$\begin{aligned} |f(z)| &= \left| z^p + \sum a_{n+p-1} T_p^\mu(n) |z|^{-(n+p-1)} - \sum b_{n+p-1} T_p^\mu(n) \bar{z}^{-(n+p-1)} \right| \\ &\leq r^p + \sum_{n=1}^{\infty} (a_{n+p-1} + b_{n+p-1}) T_p^\mu(n) r^{-(n+p-1)} \\ &\leq r^p + r^{-p} \sum_{n=1}^{\infty} (|a_{n+p-1}| + |b_{n+p-1}|) T_p^\mu(n) r^{-(n+2p-1)} \\ &\leq r^p + r^{-p} \sum_{n=1}^{\infty} \{ [2(n+p-1) - p(\alpha + 2k)(\lambda n + 2p\lambda - \lambda - 1)] |a_{n+p-1}| T_p^\mu(n) r^{-(n+2p-1)} \\ &+ [2(n+p-1) - p(\alpha + 2k)(\lambda n - \lambda + 1)] |b_{n+p-1}| T_p^\mu(n) r^{-(n+2p-1)} \} \\ &\leq r^p + p(2 - 2k - \alpha)r^{-p}. \end{aligned}$$

The left hand inequality can be proved by using similar arguments.

Theorem 5: (Extreme point): The function $f(z) = h(z) + \overline{g(z)} \in \overline{GO}_H(\beta, \lambda, k, p)$ if and

$$\text{only if } f(z) = \sum (S_{n+p-1} h_{n+p-1}(z) + T_{n+p-1} \overline{g_{n+p-1}(z)}), z \in \overline{U}, p \geq 1 \tag{12}$$

Where

$$h_{p-1}(z) = z^p, h_{n+p-1}(z) = z^p + \frac{p(2-2k-\alpha)}{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]T_p^\mu(n)} z^{-(n+p-1)},$$

$$g_{p-1}(z) = z^p, g_{n+p-1}(z) = z^p - \frac{p(2-2k-\alpha)}{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]T_p^\mu(n)} z^{-(n+p-1)}$$

For $(n \geq 1)$, $\sum_{n=0}^{\infty} (S_{n+p-1} + T_{n+p-1}) = 1, S_{n+p-1} \geq 0, T_{n+p-1} \geq 0$. In particular the extreme points of $\overline{GO_H}(\beta, \lambda, k, p)$ are $\{h_{n+p-1}\}$ and $\{g_{n+p-1}\}$.

Proof: Suppose that f can be written of the form (12), then

$$\begin{aligned} f(z) &= S_{p-1}h_{p-1}(z) + T_{p-1}g_{p-1}(z) \\ &+ \sum_{n=1}^{\infty} S_{n+p-1} \left(z^p + \frac{p(2-2k-\alpha)}{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]T_p^\mu(n)} z^{-(n+p-1)} \right) \\ &+ \sum_{n=1}^{\infty} T_{n+p-1} \left(z^p - \frac{p(2-2k-\alpha)}{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]T_p^\mu(n)} z^{-(n+p-1)} \right) \\ &= \sum_{n=0}^{\infty} (S_{n+p-1} + T_{n+p-1}) z^p + \sum_{n=1}^{\infty} \left[\frac{p(2-2k-\alpha)}{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]T_p^\mu(n)} S_{n+p-1} z^{-(n+p-1)} - \right. \\ &\left. \frac{p(2-2k-\alpha)}{[2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)]T_p^\mu(n)} T_{n+p-1} z^{-(n+p-1)} \right]. \end{aligned}$$

Since

$$\begin{aligned} &\sum_{n=1}^{\infty} \{T_p^\mu(n)(2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)) \times \\ &\frac{p(2-2k-\alpha)}{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]T_p^\mu(n)} S_{n+p-1} + (2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)) \times \\ &\frac{p(2-2k-\alpha)}{[2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)]T_p^\mu(n)} T_{n+p-1}\} = p(2-2k-\alpha) \sum (S_{n+p-1} + T_{n+p-1}) \\ &\leq p(2-2k-\alpha). \end{aligned}$$

So by Theorem 3, $f \in \overline{GO_H}(\beta, \lambda, k, p)$.

Conversely, if $f \in \overline{GO_H}(\beta, \lambda, k, p)$, then by Theorem 3 we have

$$\begin{aligned} &\sum_{n=1}^{\infty} \frac{1}{p(2-2k-\alpha)} [(2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)) a_{n+p-1} T_p^\mu(n) + \\ &(2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)) b_{n+p-1} T_p^\mu(n)] \leq 1. \end{aligned}$$

Putting $S_{n+p-1} = \frac{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]T_p^\mu(n)}{p(2-2k-\alpha)}$

$T_{n+p-1} = \frac{[2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)]T_p^\mu(n)}{p(2-2k-\alpha)}, 0 \leq S_{p-1} \leq 1$ and

$T_{p-1} = 1 - S_{p-1} - \sum_{n=1}^{\infty} (S_{n+p-1} + T_{n+p-1})$, we get required result.

We define the convolution of f and g as $f * g$ by the following

$$(f * g)(z) = z^p + \sum_{n=1}^{\infty} a_{n+p-1} c_{n+p-1} z^{-(n+p-1)} - \sum_{n=1}^{\infty} b_{n+p-1} d_{n+p-1} z^{-(n+p-1)}$$

for

$$f(z) = z^p + \sum_{n=1}^{\infty} a_{n+p-1} z^{-(n+p-1)} - \sum_{n=1}^{\infty} b_{n+p-1} z^{-(n+p-1)}$$

and

$$g(z) = z^p + \sum_{n=1}^{\infty} c_{n+p-1} z^{-(n+p-1)} - \sum_{n=1}^{\infty} d_{n+p-1} z^{-(n+p-1)}.$$

Now we verify the convolution and convex combination properties of the class $\overline{GO}_H(\beta, \lambda, k, p)$.

Theorem 6: If $f(z) \in \overline{GO}_H(\alpha, \lambda, k, p)$ and $g(z) \in \overline{GO}_H(\beta, \lambda, k, p)$, then for $0 \leq \beta \leq \alpha < 2(1-k)$, $f * g \in \overline{GO}_H(\alpha, \lambda, k, p) \subset \overline{GO}_H(\beta, \lambda, k, p)$.

Proof: By assumption $f(z)$ and $g(z)$ satisfy the coefficient inequality (10), then we have

$$\begin{aligned} & \sum_{n=1}^{\infty} \left[\frac{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]T_p^\mu(n)}{p(2-2k-\alpha)} a_{n+p-1} c_{n+p-1} + \right. \\ & \left. \sum_{n=1}^{\infty} \frac{[2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)]T_p^\mu(n)}{p(2-2k-\alpha)} b_{n+p-1} d_{n+p-1} \right] \\ & \leq \sum_{n=1}^{\infty} \left[\frac{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]}{p(2-2k-\alpha)} a_{n+p-1} + \right. \\ & \left. \sum_{n=1}^{\infty} \frac{[2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)]}{p(2-2k-\alpha)} b_{n+p-1} T_p^\mu(n) \right]. \end{aligned}$$

The last inequality bounded by 1, since $f \in \overline{GO}_H(\alpha, \lambda, k, p)$ so,

$$f * g \in \overline{GO}_H(\alpha, \lambda, k, p) \subset \overline{GO}_H(\beta, \lambda, k, p).$$

Theorem 7 : Te family $\overline{GO}_H(\alpha, \lambda, k, p)$ is closed under convex combination .

Proof : Let $f_j(z) \in \overline{GO}_H(\alpha, \lambda, k, p)$ for $j \geq 1$ be defined by the following form

$$f_j(z) = z^p + \sum_{n=1}^{\infty} a_{n+p-1,j} z^{-(n+p-1)} - \sum_{n=1}^{\infty} b_{n+p-1,j} z^{-(n+p-1)}, (a_{n+p-1,j} \geq 0 \text{ and } b_{n+p-1,j} \geq 0).$$

Therefore by Theorem 3, we have

$$\sum_{n=1}^{\infty} \left[\frac{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)]}{p(2-2k-\alpha)} a_{n+p-1,j} + \right. \\ \left. \sum_{n=1}^{\infty} \frac{[2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)]}{p(2-2k-\alpha)} b_{n+p-1,j} \right] T_p^\mu(n) \leq 1. \dots\dots\dots(13)$$

Then we can write for $\sum_{n=1}^{\infty} S_j = 1, 0 \leq S_j \leq 1$, the convex combination of f_j as

$$\sum_{j=1}^{\infty} S_j f_j(z) = z^p + \sum_{n=1}^{\infty} \left(\sum_{j=1}^{\infty} S_j a_{n+p-1,j} \right) z^{-(n+p-1)} - \sum_{n=1}^{\infty} \left(\sum_{j=1}^{\infty} S_j b_{n+p-1,j} \right) z^{-(n+p-1)}.$$

From (13) we get

$$\sum_{n=1}^{\infty} \left[\frac{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)] T_p^\mu(n)}{p(2-2k-\alpha)} \left(\sum_{j=1}^{\infty} S_j a_{n+p-1,j} \right) + \right. \\ \left. \frac{[2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)] T_p^\mu(n)}{p(2-2k-\alpha)} \left(\sum_{j=1}^{\infty} S_j b_{n+p-1,j} \right) \right] \\ = \sum_{j=1}^{\infty} S_j \left\{ \sum_{n=1}^{\infty} \left[\frac{[2(n+p-1) - p(\alpha+2k)(\lambda n + 2p\lambda - \lambda - 1)] T_p^\mu(n)}{p(2-2k-\alpha)} a_{n+p-1,j} + \right. \right. \\ \left. \left. \frac{[2(n+p-1) - p(\alpha+2k)(\lambda n - \lambda + 1)] T_p^\mu(n)}{p(2-2k-\alpha)} b_{n+p-1,j} \right] \right\} \leq \sum_{j=1}^{\infty} S_j = 1.$$

Therefore

$$\sum_{j=1}^{\infty} S_j f_j(z) \in \overline{GO_H}(\alpha, \lambda, k, p).$$

REFERENCES

- [1] O. P. Ahuja and J. M. Jahangiri, Multivalent meromorphic harmonic functions, Adv. Stud. Contemp. Math. 7(2) (2003), 179-187.
- [2] J. Choi, M. Saigo and H. Srivastava, Some inclusion properties of certain family of Integral operator, J. Math. Anal. Appl., 276(2002), 432-445.
- [3] W. Hengartner and G. Schober, Univalent harmonic functions, Trans. Amer. Math. Soc. 299 (1987), 1-31.
- [4] J. M. Jahangiri, Harmonic meromorphic starlike functions, Bull. Korean Math. Soc. 37 (2000), 291-301.
- [5] A. R. S. Juma and S. R. Kulkarni, On certain multivalent Harmonic meromorphic functions, Anal. Univ. Oradea, Fasc. Math, Tom XVII 2 (2010), 185-193
- [6] S. M. Khairnar and S. R. Kulkarni, A subclass of harmonic starlike functions with negative coefficients, J. Indian Acad. Math. 21 (1) (2004), 47-61.

- [1] O. Altintas, On a subclasses of certain starlike functions with negative coefficients, *Math. Japan*, 36 (1991), 489-495.
- [2] I. B. Jung, Y. C. Kim and H. M. Srivastava, The Hardy space of analytic functions associated with certain one-parameter families of integral operators, *J. Math. Anal. Appl.*, 176 (1993), 138-147.
- [3] O. S. Kwon and N. E. Cho, Generalizations of Hadamard products of certain analytic functions, *Math. SCI, RES, HOT-LINE*, 2(3) (1998), 1-8.
- [4] K. S. Padmanabhan and M. S. Ganesan, Convolution of certain classes of univalent functions with negative coefficients, *J. Pure, Appl. Math.* 19(9), (1988), 880-889.
- [5] H. Silverman, Univalent functions with negative coefficients, *Proc. Amer. Math. Soc.*, 51 (1975), 109-116.
- [6] H. M. Srivastava, S. Owa and S. K. Chatterjea, A note on certain classes of starlike functions, *Rend. Sem. Mat. Univ. Padova* 77 (1987), 115-124.7